
Eigenvalues and Eigenvectors
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Say :
 Matrix A has eigenvalues 7=0 and 7=21

and corresponding eigenvectors
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.

E×2J B = &Oz) eigenvalues 7=2 and 7=3

w/ e-vectors e , and ez

In general ,
matrix A has eigenvalue X with

eigenvector X if
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MIonlyinteresting if X=o .



The  matrix

(A - XIN)X=O → In has NCA - 7Th ) F { O}
has a non Zero a null space

Solution that  is
nontrivial

The matrix A - din

det ( A - 7 In )=o
is NOT invertible

definition he number X is an eigenvalue
of the matrix A  if
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0=1A -7 Ink ( I - 7)(20-7)-20=72-217,1-20 -

20--72-217=7( X - 21 )
.

So 7=0 or 7=21
.
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0--113-7121=(2-7)(3-7) . So 7=2 or 7=3
.


